§Proor?'i

T'm So’nn3 +o exPlain to you wh)/ L x-3=5
then x=8. You mi3h+ alreacl/ l<Y\0W *H\ES/
but I/ll exPlaln T to youw as B you AiJV\/‘f’-

Here’s my explanation: T8 x-3=5  then
we can ao\cl 3 4o both sio\es o? -rhe ezuaﬁon

To Se‘l' A=5+3. Tn other Wovds, x=8. Thats
the end of my explana‘ﬁon.

Ilm So‘ms to exP\ain to you A

ka oo You misk‘f’ al(‘ead)/ know
this, but Tl cxpla"m it +o
you as i you didnt. )

> —— Claim:

{Heve's YY\)/ exrlana-ﬂon;f - S Proog.'
{Thad"s the evd o my explana‘rion.}}-—> ]

Claim: IT§ x-3=5, dhen x=8.

Pt‘oogz I": x-3=5, +hen we can add 3
to both sides 0-p the ezua-i-ion +o 5e+ x=5+3,
Tn other words, x=8.
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